

Multiply by 10^{-3} (G)

Find each product.

$52 \times 10^{-3} =$

$69 \times 10^{-3} =$

$34 \times 10^{-3} =$

$12 \times 10^{-3} =$

$26 \times 10^{-3} =$

$12 \times 10^{-3} =$

$9 \times 10^{-3} =$

$80 \times 10^{-3} =$

$82 \times 10^{-3} =$

$78 \times 10^{-3} =$

$79 \times 10^{-3} =$

$80 \times 10^{-3} =$

$91 \times 10^{-3} =$

$23 \times 10^{-3} =$

$14 \times 10^{-3} =$

$31 \times 10^{-3} =$

$78 \times 10^{-3} =$

$43 \times 10^{-3} =$

$90 \times 10^{-3} =$

$66 \times 10^{-3} =$